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|dentifying Decimal Equation Patterns Name:
Use decimal multiplication and division rulesto fill in the blank. Answers
859.821 x 100 =
1.
53099 + 10 =
2
70.87 x 10 =
3.
746.896 x 1,000 =
4,
6,793 + = 679.3
5.
x 1,000 = 205,100
6.
x 100 = 8,540
7.
x 1,000 = 439,600
8.
x 100 = 77,184.2
0.
9,556.6 + = 955.66
10.
+ 10 = 574.7
11.
474,310 + = 47431
12.
9,169 + 10 =
13.
188.22 x = 18,822
14.
69,630 + 1,000 =
15.
8.559 x 10 =
16.
395,650 + 1,000 =
17.
+ 10 = 810.6
18.
601.6 x = 60,160
19.
+ 1,000 = 694.56
20.
1-10 | 95/90[85(80| 75| 70| 65| 60 | 55| 50
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Use decimal multiplication and division rulestofill in the blank.
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|dentifying Decimal Equation Patterns

Name:

Answer Key

859.821 x 100 = 85,982.1
5,309.9 -+ 10 = 530.99
70.87 x 10= 708.7
746.896 x 1,000 = 746,896
6,793 + 10 = 679.3
205.1 x 1,000 = 205,100
85.4  x 100 = 8,540
439.6 x 1,000 = 439,600
771.842 x 100 = 77,184.2
9,556.6 + 10 = 955.66
5,747 +10=574.7
474310 -+ 1,000 =47431
9169 - 10= 916.9
188.22 x 100 = 18,822
69,630 =~ 1,000 = 69.63
8559 x 10 = 85.59
395,650 + 1,000 = 395.65
8,106 + 10 = 810.6
601.6 x 100 = 60,160

694,560 =+ 1,000 = 694.56
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Answers
, 859821
. 530,99
s 7087
. 746,896
5. 10
o 2051
., 854
s 4396
o T71.842
10, 10
u 5747
2 1,000
5 9169
w100
5 69.63
55 8559
;7 39565
5 8106
o 100
2. 694,560
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